I Adda

V\/ELCDIVIE
] Adda247

Y




APP FEATURES
b4

o o
Premium Study Material

D 2"

Current Affairs Job Alerts
?
[y
Daily Quizzes Subject-wise Quizzes

Download Now

Adda2497 APP PR &

Magazines Power Capsule

=R

Notes & Articles Videos




s 7

ELECTRICAL & ELECTRONICS

e QUESTIONS & PYQ

LIVE-6:00PM



By- Abhinesh sir USE CODE FOR DISCOUNT : Y433 WaXa[s IR

n Which of the following material has the highest electrical

conductivigy?
(a) Gold

\ ) Silver ~ [+ has cmld Sffg\u
(c) Copper

(d) Aluminium Choc "?ftﬂ'—‘ " Valoao
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n In which of the following material’s resistanf(\/
independent of change in temperature?

(a) Brass e :Qn(l‘l'ﬁ’(ﬁ{‘)
(b) Platinum t
(c) Tungsten O< — {OUQ (05 Fugfb[ﬂ)

(d) Adloys of Constantan and Magnallj_l_l_
Fm n ¢ <__>> C’( — Ly O_Um)b( e

e —
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What is the relation between latching current and holding

S C @ current in a thyristor?

(a) Latching current = Holding current T > —L\
@ s A
OC Sty (b) Latching current > Holding current

- c) Latching current < Holding current
— (- S‘[JO 'RI‘) [ ] g g

(d) Latching current > Holdlng current

Ak ij; L.~ Tom
AT §?f 1T | T

6 K dg 2 I, —0ON

Ja < Ty
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When a magnetic field of 6 A/m with current of 2 A is

n applied across a semiconductor of width 4 m, then
H o) exr determine the value of Hall voltage (in Volts). Given:
Number of carrier concentration is 10%°, 010
—y Semi- - 0.1875 ey | | /vH -y Ll
/\ S (4= 6 Hal| Copfio—
(b) 1.1857 s L VO
N o = |/ 7
7?/" e (c) 0.1117 Qj e | |
— (d)1.1756 | IR = jﬂ ne
1 = T2c |
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V Calculate the value of lower cut - off frequency (in Hz) of

n }7 RC low pass filter with resistance, R = 200 k/iiu-nhms and

\ capacitance, C =5 uF. I l\ N
\_Ja) 0.159 R . 21" \
a\a\.lbl (b) 2 — AT . 1\
/ (IR \J, — C _ﬁc f
(d) 1.75 °
N - ﬁ 7 | e J__ 3
e = L ong ( aAxos
| +5S CK X TAleS
= O 15
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n Which of the following oscillator is used for audio

b frequency applications and prowdes Mllgg&f
3-0 frequency?
(a) Hartley oscillator ' AS k1

2 |
‘g J"fﬁ\(d (b) Armstrong oscillator R /\
N

(c) Phase shift oscillator 0

Wien bridge oscillator || ¢ } PCc ..
| TR =€y |- Colpi ks R ui _
‘f o Gzl |5 P ]7
2K RC
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n Which of the following oscillator is also known as radio
frequency (RF) oscillators?
(a) RC oscillators
(b) RL oscillators
) LC oscillators
(d) RLC oscillators
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n What is the minimum number of R-C network required to

be cascaded in a RC phase shift oscillator?
(a) One

(b) Two

(c) Three

(d) Four
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Which of the following condition a D-flip - flop is said to

be in a transparent condition?

— @U% K+ (a) Output is LOW
Ol pe¢ TIp (b) Outputis HIGH

(c) Output follows clock
(d) Output follows input

D
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n Which of the following Boolean operation is equivalent to
intersection function?
(a) EXOR

(b) OR A |
\d)xfﬁnn . _::>‘ 1= AG S A

(d) NOT
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is used to convert the coded form like BCD into

an uncoded form. " | ‘
(a) Encoder Caﬂ\b”’f%m & it
\./fb/) Decoder /7 ° & to
(c) Adder N — 9 any. . -
(d) Subtractor AoCsesn | of b C
T| P G T

_

Coabls (Hish)
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n Calculate the antenna current (in A) when the percent of

modulation changes to 0.2 and the carrier current of an
AM transmitter is 5A.

@6516 T, - T |42

—

w 5.049 2
(c) 4.006 A= MoT
(d) 3.05

1

i P | 402" _ g_“.obl'l

————

: 2

——
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n On what basis the following techniques of encoding are

selected in any telecommunication systems?
3 i Efficiency _ A9
k Dv)g_,_,ii. Error '
iii. Power level
(a) Only I
(b) Only III
(c) Both I and II

[}LAII option are correct
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n Calculate the Nyquist interval rate (in rad/sec) for the
signal x(t) = cos (1000 t) + cos(500 t).
i s
a) 2000 B
(b) 200
(c) 1400 ____,9 = j ‘E
(d) 800 1 §
&
(1Dg > 2 g
= 22X | Ov—
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Which of the following analysis can be preferred for both

planar and non - planar circuits in any network?

(a) Mesh analysis | ]Dl 0N G~

(b) Nodal analysis

a
(c) Both mesh and nodal analysis 2
(d) None of these /
v Mesh = KVLtoehmslaw

V) Cﬂﬂl(] Ao rolmmr d :
X Noolod = KcL tohm f(
= Pla’w‘( NI F[W {
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Calculate the active power if the phase angle difference

between electric current and voltage is 90 degree?

(a) VI Ux\
ot \ 0
(b) O -
(c) V1/2 P - \}‘ﬂ L5 Cos § 5 (kvae)
(d) 2VI
F = V“efIz/ Cosqo

+

1 o
F=e (ku)
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n Calculate the value of resistance (in ohms) of the coil of
an RL circuit with a time constant of 5 seconds and value

of inductor is 15 H.

(a) 5 T - CL:.—}Q

(b) 3 >———000 5060 000 | C= Lﬂ

(c) 4 | = Mol “24 zﬁl

(d) 6 2 c = _f_i

U ¢ N 2
) ? i

MI L] < /
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Calculate the value of Norton’s current and Norton’'s

equivalent resistance for the given circuit across the

terminal AB. - -
O R, =20Q R. =200 @
@\ ) -
\
B
a) 250 mA, 20 ohms -
(a) I = Val] .95

(b) 150 mA, 26.6 ohms

%jjb ﬁ’]'?so mA, 25.6 ohms \/ -|® + V4 \/ + \/f _

(d) 200 mA, 10 ohms I 6 [0 9o

QVAS 6;1‘/@‘:/ Vel | \
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n What is the expression for quaﬁty factor in terms of

power?

(a) Ratio of power loss to power dissipated

\}}’Rﬂtiﬁ of power stored to power dissipated

(c) Ratio of power dissipated to power loss

(d) Ratio of power loss to power stored

0O

N\ o

U

Q

S =

fax ey, steref x 24
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How power factor behaves in a series RLC circuit above /

E !
n resonance frequency? Q‘;
(a) Leading

(b) Lagging
(c) Zero
(d) One

Z:Q‘l' TR TXe
:K{J’(U\)L—L )

7 AL K ﬁ\f
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n Which among the following is a disadvantage of an

emitter follower regulator?
(a) It does not provide high gain.

\/ﬂf) No provision exists for varying the output voltage
(c) It cannot withstand high load current

(d) Its output resistance is high jii T
G‘mTHezr %Dl\omw—a C C /-},«Fl,a{lu )//7
m ]
Us <\ | Ay = Uty !

A ., &
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The maximum theoretical efficiency of a Class A push -
pull transistor amplifier is
(a) 0.5

(b) 70.56
(c) 0.5925
(d) 0.98




Power |Conduction|Maximum

Amplifier| Angle |Efficiency Merit

ClassB | 180" | 78.5% | 04
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What is the largest sine wave output voltage (in Volts)

possible at frequency of 1 MHz when an Op-amp has slew

wwg,,rate of 10 V/us?
V (a) 20

6)) (b) 107
s (10/n)

)
Corplo
Kevisio

/

L = e 3K K




